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> A
N & 0l & AF S & M M
20128 XY 2 8 +EN SLIH I
SN BA
Hu: YRES(2Z D)

Sol WRHHNE (NS SE3IH) CER-ED
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
220 900,621 837,179 63,442

p] 699,959 636,517 63,442
Al 200,662 200,662 0
WeEs(2E) 816,787 753,345 63,442
p] 620,442 557,000 63,442
Al 196,345 196,345 0
WEANKI B (SRHE S3H) 620,442 557,000 63,442
p] 620,442 557,000 63,442
TESEpE 620,442 557,000 63,442
p] 620,442 557,000 63,442
404 ZINANEHES 620,442 557,000 63,442
p] 620,442 557,000 63,442
01 BIILSLHIANNSHES 620,442 557,000 63,442
OB+ EBIIYSESIH H2HES 620,442 557,000 63,442

OR4E U STA Hol2Y S22 HF Y
77,226,000 77,226 94,000 ~16,774
p] 77,226 94,000 £ 16,774

O«ZHUST G2 HZHIAY

71,575,0002 71,575 87,000 A 15,425
p] 71,575 87,000 A 15,425
Os-EIRS HelAE 48,219, 0002 48,219 59,000 £ 10,781
p] 48.219 59,000 £ 10,781
O ZCS0s HelAla 259,679,000% 259,679 317,000 ~57,321
p] 259,679 317,000 ~57,321
OFHZF 058TL AIZLTHE  163,743,0002 163,743 0 163,743
p] 163,743 0 163,743




